Revision on primary three

Write the place value :
· 2243
· 7102
· 5629
· 3401
· 4856
· 5215
Write the value :
· 5983
· 3698
· 4058
· 4106
· 6794
Find the result
· 4 ×7=
· 3×4=
· 8×8=
· 3×8
· 9×7=
· 9×0=
· 5×8=
· 7×6=
· 7×7=
· 3×7=
· 9×4=
· 5×5=
Find the result:
· 27÷9=
· 35÷7=
· 54÷6=
· 32÷4=
· 6÷2=
· 42÷6=
· 63÷7=
· 32÷4=
· 72÷8=
· 48÷6=
· 28÷4=
· 63÷7=
· 54÷9=
· 24÷4=
· 36÷9=
· 21÷3=
Complete in the same pattern : 
· 6542,6553,6564,……….,…………,……….
· 2225,3235,4245,……..,………..
· 5686,5675,5675,……….,……….
· 9866,9856,9846,……….,…………
· 2211,3322,4433,……….,………..
· 4400,4600,4800,……….,…………
· 28530,28630,28730,……….,……….



Complete using > ,<, =:
· 4×5                3×7
· 5×7                 49
· 6×8                  5×9
· 4×7               7+7+7+7     

· 30                  6+6+6+6
· 6+6+6               2×9
· 24÷3                 35÷5
· 49÷7                 7 


Arrange the following sets of  numbers ascendingly and descendingly 

· 52943,27657,28654,32981,47564
Ascending order is  ………,………..,………..,…………and………
Descending order is …………,……….,……….,……….and…………
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Write in letters each of the following :
· 8576 is written in letters as ………….
· 9009 is written in letters as ………….
· 3003 is written in letters as ………….
· 2678 is written in letters as ………….
· 9531 is written in letters as ………….
· 1528 is written in letters as ………….
· 8576 is written in letters as ………….

1. If the price of 6 balls is L.E 54 
Find the price of each ball = …………………………………..pounds

2. A box of colours , it contains 5 colours
How many colours are there in 7 boxes ?
The number of colours =…………………………..

3. A tin of cheese weighs 7 Kg. what is the weight of 9 tins ?
The weight of 9 tins =…………………………………..Kg

4. Afather distributes 27 pounds equally among his three sons 
What is the share of each one of them ?
The share of each one =………………………………………pound




